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top of this page.

This paper consists of Seventy five multiple-choice

type of questions.

At the commencement of examination, the question

booklet will be given to you. In the first 5 minutes,

you are requested to open the booklet and
compulsorily examine it as below :

(i) Tally thenumber of pages and number of questions
in the booklet with the information printed on the
coverpage. Faulty booklets due to pages/questions
missing or duplicated or not in serial order or any
other discrepancy should be got replaced
immediately by a correct booklet from the
invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given.

(i) After this verification is over, the OMR Sheet
Number should be entered on this Test Booklet. °

Each itemn has four alternative responses marked (A),

(B), (C) and (D). You have to darken the oval as

indicated below on the correct response againsteach item.
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where (C) is the correct response.

Your response to the items are to be indicated in the
Answer Sheet given inside the Paper | Booklet only.
1f you mark at any place other than in the ovals inthe
Answer Sheet, it will not besevaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.
If you write your Name. Roll Number, Phone
Number or put any matk on any part of the Answer
Sheet, excopt for the space allotted for the relevant
entries, which may disclose your identity, or use
abusive language or employ any other unfair means.
you will render yourself liable to disqualification.
You have to retusn the test question booklet and OMR
Answer sheet to the invigilators.at the end of the
examination compulsorily and must not carry it with
you outside the Examination Hail.

Zudents can take home carbon copy of their OMR
Answer sheet.

Use only Blue/Black Ball point pen.

There is no negative marks for incorrect answers.
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PAPER CODE : 06

PAPER-11I

POLITICAL SCIENCE

Note : This paper contains Seventy five (75) objective type questions, each question carrying

two (2) marks. Attempt all the questions.

Fz ; m T  ReaT (75 ) 9g-fomhedia WA ¥ | R T H A (2 y i § i well Fsw

1.

The ethical justification for individualism

was offered by which of the follwing ?

(A) Locke

(B) AdamSmith

(C) Herbert Spencer

D) JS.Mill

The principle of ‘greatest good of the

greatest number’ was advocated by

which of the following ?

(A) Individualists

(B) Socialists

(C) Idealists

(D) Ultilitarianists

The concept of dictatorship of proletariat

was elaborated by—

(A) Karl Marx in Das capital

B) Marx and Engels jointly in the
‘Communist Manifesto’

(C) Engels in the ‘Originof family
private property and state’

(Dj Lenin in the *State and revolution’

The Marxists believe that the state was

created for—

(A) Maintenance of Law and order

(B) Protection of weaker sections

(C) Elimination of slavery

(D) Suppression and Exploitation of
workers
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According to the Evolutionary theory,

the four factors which helped in the evo-

lution of the state were—

(A)  Population, Religion, Government
and Force i

(B) Population, Tetritory, Government

and Sovereignty

(©) Kinship, Religion, Force and
Political Consciousness

(D) Religion, Force; Territory and
Government

The Divine origin theory laid emphasis

on which of the following— )

(A) Close co-operation between
religionand politics

{B) Complete separation of religion
and politics

(C) Domination ofeligion by the king

(D) Equality ofall men

The Pluralists believed that-—

. (A) Sovereignty isexclusively vested

in the state

(B) Sovereignty is shared by:-the ’
various social, religious, economic
and political groups -

(C) Sovereignty is the privilege of
social and economic groups only

(D) Sovereignty rests with the united
nations.

According to whom sovereignty resides
in determinate human superior ?

(A) Bodin

(B) - Grotius

(©)  Austin

(D) Montesquicu
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10.

11.

12.

Sovereignty is.an essential attribute

which one of the following ?,
(A) State

(B). Society

(C) Government

™

Parliament

Who said that the state is expansion of
family ?

(A) Plato

(B) Aristotle

(C) Spencer

(D) Green

Who among the followings has said “So-
cialism means a form of society in which
individual is acultured, a civilised being,
free and brave, king and generious’.
(A) MN.Roy .

(B) Nehru

(C) Gandhi

(D) IJay Prakash Narayan

Who does not accept the theory of
consent as the basis of obedience ?

(A) Hume
(B) - Marx
(C) Lenin
(D) Herbert Spencer
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13.

14.

15.

In Kautilya’s scheme of Rural Adminis-
tration, which one of the following is not
alayer of rural hierarchy ?

(A) Dronamukha
(B) Kharvatika
(C) Nagaraka
(D) Sthaniya

In Kantilya’s ‘ Arthshastra’, the percent-
age of the Royal share of land produce
was—

(A) 16%%

_(B) 16%%

©) 16%
D) 16V%

Match List I with List Il and Select the
correct answer using the code given
below:

List I List I

a. HenryMaine 1. Evolufionary
Theory of State

b. Oppenheimer 2. Divine Theory of
State

¢. James] 3. Force Theory of
State

d. Maclver 4. Patriarchial
Theory of State

Codes:

a b c d

A 1 2 3 4

®) 1 2 4 3

) 4 3 2 1

O 3 4 1 2
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o

atch List I with List I and Select the
correct answer from the code given
below:

List 1 List II
a. David Easton 1. Authoritative
' allocationof values
b. Hans 2. Shaping and
Morgenthau sharing of power
c. Lasswelland 3. Struggle of
Kaplan Power
d. Michael 4. Knowledge is
Focautt Power
Codes:
a b c d
A 2 3 1 4
® 1 4 2 3
) 2 4 1 3
D) 1 3 2 4~
Classical liberalismadvocates for which
of the following ?
1.  individualism
2. Welfarism
3.  Freemarket
4. astate which hasawatchman’s duty
" Select the Correct Answer :
(A) 1,2and4
(B) 1,2and3
(©) 1,3and4
D) 2,3and4

Consider the following statements and

select the correct answer from the code

givenbelow:

a. Parties are inevitable for democratic
Government

b. They educate the masses

(A) BothAand B are true

(B) BothAandB are false

(C) AistrueBisfalse

(D) BistrueAis false

P.C~06-POLITICAL SCIENCE-III/900

16,

17.

18.

gﬁlaﬁtﬁtllﬁgﬁéﬁaﬁﬁﬁtaw

H e T e WA F g T
T T HA
el L it
a e dem 1. A
) snferemita foa
b. ¥ AT 2. ufw i el
q HEUM

c. e UE 3. Vit &g E@
- _ .

d. TS FH 4. 96 8 vl

%< :

a
a) 2
® 1
© 2

1

4. =R ¥ i 9 I

T S R T Fi

(A) 1.2and4

B) 1,2and3

(C) 1,3and4

D) 2,3and4

Frifra weRl R feR Hifw g =

AT e W Y S R = F

a. U wheRdiiash SR % fou e
srafier ¥

b, 3 W unE i Tk w@ §

AT B T ®
A a1 B SR sTE B
ATEE, B IaE R
BEE ¥, A 36 1

GV
®)
©

®)
RTO.




19. Match List I with List IT and Select the
correct answer using the code given

below:
List1 ListIT
a. UK 1. Due Process of
" Law
b. USA 2. Federal Tribunal
Couricil
c. Switzerland 3. Procedure
Established by
~ Law
d. India 4. Rule of Law
Codes: .
o a b c d
(A) 4 1 2 3
B) 3 4 1 2
) 4 3 2 1
® 3 2 1 4

© 20. Match List I with List Tand Select the
cotrect answer using the code given

below:
List1 List IT

a. Article39-A 1. Contrel water
Pollution

b. Artical 43-A 2. Equal justice &
Freelegal aid

c. Artical 48 3. ‘Patticipation of

‘ Workers in the

Management of
Industry

d. Artical 48—-A 4. Prohibitionon

cow-slaughter

Codes:

a b c d
(A) 4 1 2 3
B 4 1 3 4.
©) 2 3. 4 1
O 2 3 1 4
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Match List I with List I and Select the
correct answer using the code given
below:

ListI List1I
a. Brahma Samaj 1. Annie Beasani
b. Bombay 2. Gopal krishna
Presidency Gokhale
Association -
c. Bharatsevak 3. Shr. Pheroj shah
samaj mehta
d. Theosophical 4. RajaRammohan
Society Roy
Codes:
a b c d
A 4 1 2 3
® 1 4 3 2
) 4 2 3 1
4 3 2 1

D)
22.  Match List I with List Il and Select the

8

correct answer using the code given
below:

List1 ListII
a. Separationof 1. Locke. -
power
b. Divisionof 2. Montesquiu
Power
¢. RuleofLaw 3. C. Wright Mills
d. PowerElites 4. Dicey
Codes:
a b c d
A 2 3 4 1
3 2 1 4
<y 2 3 1 4
D 2 1 4 3

Assertion (A)—Gandbhi is regraded asa
Post-Modernist thinker |

. Reason (R)—He believed that absolute

tfuth cannot be realized, only relative
truthcan be realized.
Both (A)and (R) are ture and (R)
is the correct expalantion of (A).
(B) Both(A)and (R) are true but (R)
is not the correct explanation of (A)
(C) (A)isfalse but (R)is true.

@) (A)istruebut (R) is false.
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24,

25.

Match List I with List I and Select the
correct answer using the code given
below:

ListI List I
a. Plato 1. Justice is the
Interest of the
Stranger
b. Cephalus 2. Virtueis Knowlege
c. Thracymachus 3. Justiceis the first
) virtue of a good
Society
d. Rawls 4. Justice is paying
ofone’s debt
Codes:
a b c d
) 3 4 1 2
®) 3 2 1 4
< 2 3 4 1
O 2 4 1 3

Match List I with List Il and Select the
correct answer using the code given
below:

ListI ListHI
a. Fredrick Engels 1. Communist
manifesto
b. Karl Marx 2.State and
Revolution
¢. V.L. Lenin 3. On the National
Question
d. Joseph Stalin 4. Origin of Family,
Private Property
and the State
Codes:
a b c d
) 1 3 2 4
® 4 1 2 3
< 1 2 3 4
D) 4 2 3 1
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26. Match List I with List I and Select the
correct answer using the code given
below:

List] List1I

a. Guild Socialism 1. Georges sorel

b. utopian Socialism 2. Robert Owen

c. Fabianism 3.G.D. H.Cole

d. Syndicalism 4. George Bernard

Shaw
Codes:
a b c d

(A 4 2 1 3

®B) 3 2 4 1

© 3 4 1 2

D) 4 3 1 2

27. Match List 1 with List [T and select the
correct answer from the codes given
below :

ListI ListIl

a. Paul Brass 1. The Idea of India

b.Sunil Khilnani 2. The Politics of
India since
Independence

c. Atul Kohli 3. ANew History of

" India ’

d. Stanley Wolpert 4.India’s democracy-
An Analysis of
changing state
Society Relations

Codes: a b c d
A) 2 1 4 3
® 2 1 3 4
© 1 2 3 4
®) 2 4 3 1
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8]
; 2§./ Match List T with List IT and give the 28.

answer by using the codes given below :
Listl ListIl
a. Andrew Hacker “1/Democracy in
America
. Alexisde 2. Two Nations :
Tocqueville Black and White,
Separate, Hostile,
Unequal
c. Robert Kuttner 3. The Modem
Presidency
d. James Pfiffiner 4. Everything for .
~ sale w
Codes: a b c d
viA) 2 1 4 3
® 1 2 3 4
© 1 4 3 2
D) 4 3 2 1
29, Arrange the following in chronological 2.

order and choose the correct answer
from the code given below :

1. Vienna congress

2. Philadelphia convention
3. Gulf Crisis

4. Vietnam war

Codes: a b c d %2
A 3 2 4 1
@B 4 3 2 1
© 1 2 4 3
D) 1 3 2 4
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30. Match List1 with List Il and give the
correct answer by using the codes given

below :

Listi ListII

a. Machiavelli 1. The Laws

b. Hobbes 2. The Politics

c. Aristotle 3. The Leviathan

d. Plato 4. The Discourses
Codes: a b ¢ d

A) 4 3 .2 1

(B) 4 2 3 1

<y 3 2 1 4

o) 2 3 1 4

31. Match ListI with List Il and select the
correct answer from the codes given
below : :

List] ListIl

a. Radical Humanism 1. Karl Popper
b. Entitlement Theory 2. Macpherson
¢. Social Engineering 3. M.N. Roy

d. Participatory- 4. Nozick
Democracy

Codes: a
(A) 3
B 3
€y 3
D) 3 T2

32. Matoch List I with List H and select the

o N o
— o = O
O R N N

correct answer from the codes given -

below :
Listl  Listll
a. RobertDhal 1, Democracy and

the Global order
b. David Held 2. On Democracy
¢. Benjamin Barber 3. Bowling Together
d.Robert Putnam 4. Globalizing

' Democracy

P.C.06-POLITICAL SCIENCE-I11/900

30, ge 1R e L9 ghfera sifra g
Y 23 7 T w1 T FW gC TRl
s gha—
T
a. Afpaaet
b. &Ted

c. SR,
d. ==

TR 1

1. kaw

- 2. & difafesa
3, & diformem
4. & fewrrds

A
®B)
«©)

N W AR
RN WT
— O

SN N = N

o) 3 1
31, T 1 R 08 gafem iy qe
= fed 1 T2 B W FW g GE
I ghE—
T = 10

a. AR AFEEE 1. S AR

b, 9T fagra 2. HFwEA

. aHifee sttt 3. T,
* d. Bl Tha=
' b

2 1
1 2
1

4. R

(¢}

A
(B)
© 4
) 1. 2
32. g 1 e 19 gafaa S g
C A R T e W S g wE
IW
Eill
a. o &gt

W W L W R
I O G N e

T

1oeAseE e T
TR 3ET

b. ST BeE 2. =T SHRE

c. ST e 3, ST gt

d. U e 4. e SR

11 RT.O.




Codes: a b c d
(A) 2 3 4 1
®) 4 3 2 1
© 3 2 4 1
D) 2 1 4 3
33. Match List I with List Il and select the

correci answer from the codes given
below :

Listl List 11

- a. The human eycle 1. Gandhi

b. Hind Swaraj 2. Aurobindo

Ghosh
¢. The Total 3. Jai Prakash.
Revolution Narayan

d.Annihilationof 4. Ambedkar
Caste

Codes: a b c d
A 2 i 3 4
® 1 2 3 4
(Cy 4 2 1 3
(D) 4 3 2 1

34. In the Scientific Management theory,

35.

maximunm stress has been laid on which

of the following ?

(A) Toolsof data collection

(B) Developmentof organisation
structure

(C) Planning and Standardisation

(D) Organisation of departments

Which of the following is not a book
authored by Amartya Sen ?

(A) Development as freedom

(B) The ldeaof Justice

(C) TheRoadto Serfdom

(D) TheIllusion of Destiny
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a b c d
A 2 3 4 1
®) 4 3 2 i
«© 3 2 4 1
o) 2 1 4 3
T 1 g 11 9 gafer St
T fed T e w1 W wE g
T GHE—
A1 LGl
a. T g wifrer 1. e
b. feg =S 2. 3 WY
c. fg Zrm 3. T TR A
fraregar

d. ofifEeem o1 4, sTae
T

a b c d
A 2 1 3 4
®) 1 2 3 4
© 4 2 1 3
D) 4 3 2 1
ey g § frafafea A

AP R e R ?
(A) TA THEEH F ST

B) HeA-TTA H foaEE

(C) Frdiem T8 AHHI

D) faumil = e

Frefafia 3 @ S TE s 39
Y 7 ot ¥ 2

(A) %émﬁ?wsﬁ—sﬂ

B) f& emfem sfe Ay

©) T ez wheA

(D) T& zoger sifw Sfedt




36.

37.

38.

39.

40.

In which of the following conntries is the
system of * Alternative vote of confi-
dence’ practised ?

(A) UK

®) USA

(Cy France

D) Germany

In which of the following years the mem-
bership of the Economic and social
council of the U.N. was increased from
3710547

(A) 1965

®) 1967

©) 1971

D) 1973

The world Health Organization come info
being on which of the following date and
year?

(A) SthApril, 1946

(B) 16th October, 1945

(C) 8thMarch, 1947

(D) TthApril, 1948

Who among the following have written
the book entitled ‘Why Socialism’ ?
(A) JaiPrakash Narayan

(B) Ram Manohar Lohiya

(C) Acharya Narendra Dev

(D) Minoo Masani

Identify the correct number of members

of the House of Representatives of the -

U.8.A. fromthe following ?
{A) 335
B) 521
(C) 100
®») 435
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frafofen & @ feg 2o & Swfcws
Teroama v S WA ] SHERe e
%2

A) 9. F.

B) uEE.

©) Wy

(D) <

frefeafom & @ forw oo # qwa. &
el we s iy = wew wEn
37§ 54 &1 TR 7

(A)' 1965

®) 1967

(C) 1971

D) 1973

fores waree b frafofea & © fea
it ud o 1 i § e ?

(A) 5 TUE, 1946

B) 16 HIR, 1945

(C) 8+, 1947

(D) 7 10, 1948

Frefafem § @ fem ‘s T’
Y e %7 T AT E 2

(A) <9 TEHR ARE

(B) T TR e

(C) oo A% <3

) ¥ A

JUET. H Gy 9 F T F

Tt e Fretferfa § @ E 2
(A) 335
B) s
(©) 100
(D) 435
PTO.



41.

42,

43.

44

Among the following countries which
country was never under any Monarchi-
cal system ?

(A) US.A

(B) Canada

(Cy France

(D) Switzerland

Match List ! with List Il and Select the
correct answer using the code given
below:
ListI ListII

a. Morgenthau 1. Systems Theory
b. Bernard Cohen 2. Game Theory

c. Mortan Kaplan 3. Decision making

Approach

d. Emile Berd 4, Realist School

Codes: ‘

a b ¢ d
A 4 3 1 S 2
® 2 1 3 4
) 4 1 3 2

o 2 301 .4
Under which of the foflowing article of
the constitution the election commission

of India was made a multi-membered

commission ?
(A) 324(1)
B) 324(2)
©) 225(1)
D) 324 (3)

Which of the following elections are not
conducted by the election commission

-of India ?

{A) Viee President of India

(B) Members of state Legislative
councils

(C) ByeElections

(D) Local Bedies Elections.
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Freaferfan & & i 3w o of et

TR e Wi w ¥ ?
(A) ITEL
B T
© W
D) whTHATS
g 1 1S il iR an
5 £ T g W@ FW@ g
TR T AT R

T = I
a. TRt 1. =gaTen fagra
b WA 2. B fag
¢ TS Wi 3. for fafor 3ammm
dTma aE 4. 99 weEE
Fe:

a b c d
A 4 3 1 2
® 2 1 3 4
) 4 1 3 2

2 3 1 4
Foater s 1 wfqem & g A7
o STe UEEERITY SRR S I ?
Ay 324(1)
B) 324(2)
© 225(1)
®) 324(3)
" % Tt e g fretafea §
B T e A e . E ?

(A) uRE F IREZIR H

B) T w faum g & weel W
©) sug™

(D) et forehral % g




. 45,

46.

47.

48.

49.

Which article of the constitution of india
empowers the Parliament to settle wa-
ter Disputes from the followings 7

(A) 261

(B) 266

(Cy 269

Oy 262

In which of the following year Switzer-
land has given the right to vote to
women?

(A) 1945

B) 1961

) 1966

o) 1977

Parochial culture is generally found in
which kind of following societies ?

(A} Totalitarian and Authoritarian
(B) Liberal-Democratic

(C) Marxist

(D) Pre-industrialized and Tribal

Who among the following is considered
as the main proponent of * System Analy-
sis” ?

(A) RobertDahl

(B) Almond

(C) Sydney Verba

(D) David Easton

From the followings which group of
thinkers advocate power theory in poli-
tics ?
A)
B)

Robert Dahl, Lasswell and Laski
Charles Merriam, Catlin and
Almond

Kaplan, Morgenthau and David
Apter

Lasswell, Kaplan and Catlin

©

®©)
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frAfafiaa & @ fF9 oT8g & oFwa
g ¥ wUE W e w foen
1 AR W B E ?

(A) 261

(B) 266

(C) 269

D) 262
weedive § Frefafad § 3 fra T
afgensil = 7a 9 F1 siuer fren ?
(A) 1945

(B) 1561

€©) 1966

™) 1971

[ frefofeas § @ fag R &
garst # "ot wepfa o s € ?
(A) watfumrawr v Frigwmam
(B) TSRS FARAITFF

(C) wmRfaTs

(D) & slenfien ve -
FrAferfas o @ ol g favemoy’
fagra = fauss A i § 2
(A) a2 EBa

B) HHUE

©) faedt aaf

@) e =

Terifa # wfe fogrg =t aweE $T
aren fo w9 Feafatan ®§ @ sme
%2
(A)
)]
©
)

T TEd, T9ad Ud @R
=1ed Afom, wefad @ o
TS, HIUET UF sheler

RLO.”



50.

5t

52.

53.

54.

V(A

Govt. of India Act, 1919 is also known
as:

(A) The Montague-chelmsford Award
(B) The Morley-Minto returm Act
(C) The Act forself-Govermnment

(D) TheActofDyarchical Government

The Communal Award was Announced
b_yTﬁgﬁ;ﬁféfl Prime Minister Ramsay
Macdenald in which of the following
years ?

1932

B) 1930

(C) 1931

D) 1929

Which one of the following was elected
as the President of the All India Khilafat
conference in 19197

(A) MaotilalNehru
(B) ShaukatAli

(C) Mahatma Gandhi
(D) M.A. Jinnah

Who of the following is not given sala-
ries or allowances from thf; second
schedule ?

(A) President
(B) Vice President

© (C) Chariman ofRajya Sabha

(D) Speaker of Lok Sabha

Which of the following states does not
have a Legislative council 7

(A) Maharashtra

(B) Karnataka

(C) Tamilnadu

(D) Uttar Pradesh
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S0.

51.

52.

3.
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e W st 1919 H fR si
AR Y off S E ?

(A) TSR e

By ic-fa= g erfufem

() TImmEA afufem

(D) &y wwe AfafeEm

fafre gurm=l Tt AFeiTes g1
it S %t s freited §
o forg e Y E o 2

(A) 1932

®) 1930

() 1931

(D) 1929
Frefefag 9 | fFoR 1910 A sfaw
et femmrd TRe w1 S I
T2

(A) W TEE

B) iR sl

(C) e et

@) T s

Frofafaa ¥ 9 fraw Tl s
¥ 3 v T R S E 2

(A) Tafd

(B) e

(C) T=aE = AR

(D) Twas 1 eaE

et 3 @ frg wea § faym oy
TR ? " :
(A) TR
B) wAleH
(C) g
(D) T WY



535.

56.

57.

(O

Before a bill becomes a law how many
readings it has to pass through in the par-
liament ?

(A) 2

® 3
© 4
O 5

The Delimatation commission, which is
constituted after every census in order
to maintain proper representation to the
states in the Lok Sabha, is headed by :

(A) Speaker of Lok Sabha

(B) ChiefJustice of India
Chairman of Union Public Service
Commission

Chief Election Commissioner

)

The Uunion Territories which have been
given theright to take part in the election
of the president by the 70th amendment
aré whichof the following ?

1. Delhi

2. Chandigarh

3. Pondicherry

4. Damaand Diu

Select the correct answer from the
following—

(A) Delhiand Chandigarh

(B) Delhiand Pondicherry

(C) Delhi and Daman and Diu

(D) Chandigarh and Pondicherry
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55.

s7.

ot Farirers 1 Fifer v @ T, e
¥ Fore T @ S e e § 7
@) 2
® 3
©) 4
o) s

YR SO 3 TR T o el
# g wiatfre 98 @ & fo
o i sl 1 e R =T
%, ST Ty g —

(A) wrEE H e

(B) IR &1 B <A

(C) o= dis VS STERT 1 3T
©) e frafe s

ammmm%w
T 704 Hellge gR 90 o 1 SRR
T ¥, feffaa d A ama ¥ 2
1. feeett 7

2. TUETE

3. o=t

4. & w4

fr & © W8 FE T uE wife—
(A) et qon avErg

(B)y Tawelt qen mieadt

(C) Taoel won g wdl

(D) =T g =

PTO.



58.

59.

60.

Concerning the Aftorney General of
India which of the following statements
is correct ? )

(A) Heis gppointed by the President
and holds office during the pleasure
of the president.

(B)" Heis appointed by the President
but Pafliament can remove him by
impeachment.

(€) Heisoppointed by the President

and 1K€ a judge of the Supreme
Court, holds office til} the age of 65
years.
(D) Heisoppointed by the p/l‘esident
and life¢a judge of a Higﬁ:})uﬂ
 holds office ill the age of 62 years.

Which of the following two states have
equal representation in the Lok Sabha?
1. Andhra Pradesh

2. Madhya Pradesh

3. Tamilnadu

4. West Bengal

Select the correct code from the
following?

(A 1and2

(B) 2and3

(C) 3and4

(D) 1and4

Dr, B.R. Ambedkar was elected to Lok
Sabha from whichof the following states?
(A) WestBengal

(B) Maharashtra

(C) Kamataka '

(D) Punjab
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aRd % weTvEEn & v w

Freffafon 8§ | S wuE TR Y ?

(A) =% Teafa g e e s
3 Top e o Tavarg W= o7
W T @A

(B) @ T gT FAR o e
% i dug meIfEm g SE B
HepdT § 1

(C) % T g frger e <
¥ ey TEE A & R
¥ UM 65 F9 T IR TH T
g T ¥ ‘

O) =& Tguf g Fga T S
Qo I =Ene F <Y %
T 62 Y I A TH AT 6
W TEW E |

fm @ fem Q) Tl W ARE d
e e § wiifEhe T R
1. Y TR

2. 9% TRy

3. AHETg

4. 4fFT S

(A) 17012

(B) 293

(C) 3v=i4

(D) 137W4
frefefioa § © fee 9 B 9. AW,
aprgaR wra % fau faifam ge
%7

(A) ui=H e

(B) =EW

(C) FAH

(D) ™



61.

62.

63.

64,

The only Parliamentary committee
headed by the Lok Sabha speaker, is
which one of the following ?

(A} Rules committee

(B) Petitions committee

(C) Public Undertakings committee
(D) Privileges committee

The ex-officio chairman of each Zonal
councilis :

(A) President

(B) Prime Minister

(C) Union Home Minister

() The govemor of one of the states
of that Zonal Council

The first state to establish the Panchayat
Raj in independent India was—

(A) Maharashtra

(B) Tamilnadu

(C) Gujrat

(D) Rajasthan

The Union Public Service Commission
has been established by the—

(A) Constitution

(B) Presidential order of 1952 -
(C) Civil ServicesAct, 1951
(D) ActofParliamentin 1952
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61.

62.

63.

A dudta afafy foen. s
ATHE SEALT G HY T E,
Frefofaa § 9 St & 2

(A) Tram wfafs

B) =fes afaf

(©) wrE=fTs 3em afafa

D) faimfer wfafy

el S a1 e wamli g

2 :

(A) TR

(B) waRTER

(C) F=mTs.9=t

(D) 39 it wfteg ¥ i # 9 fsdt
U TF hl Tt

TG I T Y ST BT AT
IO W T

(A) " HERZ

(B) Ty

(C) TeRm

(D) TS

S Tl Gl AT o T
T

(A) dfaumgm

(B) 1952 ® Uzaf SRY g0

(Cy < e sifafram 1951 g
D) dug F sifulrs 1952 57

PTO.



65.

66.

67.

68.

The residuary powers under the Indian
constitution have been vested in which
of the following ?

(A) TheCentre
(B) The States

(C) Equally divided between the
centre and the states

(D) None of above

The Council of Ministers can be removed
from office by which of the following ?
(A) The president at his discretion
(B) The Rajya Sabha ifit passes a
resolutin to this effect.
(C) The Lok Sabha if it passes a vote
of no-confidence against it.
(D) The Lok Sabha and the Rajya
» Sabha jointly by passing a vote of
no confidence against it.

Thedisputes regarding the election of the
President of India are decided by which
of the following—

(A) The Supreme Court

(B) TheParliament

(C) The Lok Sabha

(D) ‘The Election Commission

Under the Indian Constitution the upper
House of the state Legislature can be
created or abolished by which of the
following ?

(A) -The'state Legislative assembly
(B) The Parliament of India

(C) The Governor of the state

(D) The President of India
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AT WreT 3 svpta sratere it
Praferfad § 3 fre il § 2

A F%

® T

(€) = R Te H goF w9 4 favsg

O TwE H 9w T

wiaaftog = fafafea & 2 featr gr

T RO S Tl € 7

A) Tzufy g wfaees @

(B) TH 51U 59 SIRIT & TEE
q

(C) s g sifavers mRa #F

(D) wRE SR ITHT §R W
w9 aifvard ufftg R

m%mﬁa%ﬁaﬁaﬁwﬁm

faarel =1 Fofa Frafafes F 9 fees

BRI fopan < § 2

(A) =99 E0H

B) Hug -

(C) o

Oy Farm smEm
frafafes & @ e grn wRdE
wiaam ¥ ofqria T Saeenfu #
I wgd g steen wama feer <
THFA Y ?

(A) T HI faurge

(B) ¥IRd &t 998

(C) TF = Tl

D) IRdrE Tegafa




69.

70.

71,

Which of the following rights was
described by Dr. B.R. Ambedkar as the
heart and soul of the constitution ?

(A) Righttoequality

(B) Righttofreedom

(C) Rightto Constitutional remedies
(D) Rightto freedom of Religion
Provision of fundamental rights in the
Indian constitution have been borrowed
from the constitution of which of the
following countries ?

(A) USA.

(B) Britain

(C) France

(D) Germany

Which of'the following constitutional
amendments has been described as a
mini-revision of the constitution of India?
(A) 24" Amendment

B) 26" Amendment

(C) 44" Amendment

D) 42 Amendment

Which of the following movements -

received maximum support in foreign
countries ?

(A) Gadarmovement

(B) QuitIndia movement

(C) Non-co-operation movement

D) Civil Disobedience movement

The Poona pact of 1932 promoted the
interests of which of the following ?

» (A) TheHindus
. (B) The Depressed classes

(C) TheMuslims
(D) Allthese classes
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Frafafas & @ fra afaer = Sl
3. TR F A G
I UE AR S o ?

(A) T afusr

(B) TEd W SURR

(C) ddufam swarl &l iR
(D) wnfdes = @ Sfeenr
e dfaum § difes sfumil #t
ey frefafad § @ 59 3@ %
e @ forr man § 2

(A) qUEX.

®) foe=

€y w4

D) e .

freitera & & o dfaenfrs deieT =
e e =1 ¢ o R | et
TNE ?

(A) 2491 Heled

(B) 2691 T3eEA

(C) 44aiwaeA

(D) 4aiwsNEA
Frafafaa | fha sr<ier wi Bl o
waife quq faen ?

(A) TR AR

B) YRA B FA_eA

(C) sredm Swae

(D) =i s e

1932 3 Y1 FaEian % g frafafea 3

A foress feai =1 oo gan ?
@ fegsii=

® e i @

(©) e w1

(D) S T I =

RT.0.




74, Gandhiji organised Dandi march witha
viewto:

GV

®)

©
)

Create a scare in the mind of the
English people

Bring about the Hindu-Muslim
unity

Violate the salt law

Seek reduction in land reverue

75. TheIndian Muslim League was founded
- by whom ofthe following ?

GV
®
©
™)

Mohammed Igbal
M.A. Jinnah
Shaukat Ali
AgaKhan

74, e S ¥ TS A SeRE q—

uQaa
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B) Teg-—aftem Twar Sl Wiw
(C) ek HFF AST

@) fft F F A FwEE

WA Hfeer wim = e Frefate
H4 fpea & ot ?

(A) T THART

®) e

(C) i orelt

D) S EH




